ON GENERALIZED REGULAR LOCAL RING

Zubayda M. Ibraheem and Naeema Ali Shereef

Dept. Of Mathematics ,College of Computer and mathematical Sciences, University of Mosul, Iraq. (Accepted for publication: May 28, 2015)

Abstract:

A ring R is called a generalized Von Neumann regular local ring (GVNL-ring) if for any a \in R, either a or (1-a) is π -regular element. In this paper, we give some characterization and properties of generalized regular local rings. And we studied the relation between generalized regular local rings, Von Neumann regular rings, Von Neumann regular local rings (VNL-rings) and exchange rings.

Key words: local, π -regular, exchange rings.

1- Introduction:

Throughout this paper, R will be an associative ring with identity. For $a \in R$, r(a), ℓ (a) denote the L right (left) annihilator of a. We write Y(R), $\mathcal{J}(R)$ for the right singular ideal and the Jacobson radical of R, respectively. An ideal I of a ring R is said to be essential if and only if I has a non-zero intersection with every non-zero ideal of an R.A ring R is reduced if R contains no non-zero nilpotent element. A ring R is said to be Von Neumann regular (or just regular) if and only if for each a in R , there exists bin R such that a=aba [7]. In[3] Contessa first introduced and characterized a VNL-ring, and gave many properties, a ring R is called Von Neumann regular local rings (VNL-rings), if for any $a \in \mathbb{R}$, either a or (1-a) is Von Neumann regular element. A ring R is called local ring, if it has exactly one maximal ideal [1]. A ring R is called π -regular ring if and only if for each a in R, there exists b in R and a positive integer n such that $a^n = a^n b a^n$ [4]. clearly that every π -regular ring is GVNL-ring. A for each x, yis said to be strongly commuting regular if ring R in R thereexista $\in R$ such that хy)=(y x $)^{2}a($ yх $)^{2}[6].$ (A ring R is called Exchange ring if for any $a \in R$, there exists an idempotent element $e \in R$ such that $e \in aR$ and $(1-e) \in (1-a)R$ [5].

2- GVNL-Rings

This section is devoted to give the definition of generalized Von Neumann regular local ring(GVNL-rings) with some of its characterization and basic properties.

Definition 2.1: [2]

A ring R is called a generalized Von Neumann regular local ring(GVNL-ring) if a or (1-a) is π -regular for every $a \in R$.

Examples:

1-) Let $(\mathbb{Z}_2, +, .)$ be a ring and let $G = \{g: g^{2=1}\}$ is cyclic group, then

 $Z_2 G=\{0, 1, g, 1+g\}$ is not regular, but π -regular ring.

2-) Let R be the set of all matrix in Z₂ which defined as: $R = \left\{ \begin{bmatrix} a & b \\ 0 & d \end{bmatrix} : a, b, d \in Z_2 \right\} \text{ It is easy to find the elements of R}$ $R = \left\{ A_0, A_1, A_2, A_3, A_4, A_5, A_6, A_7 \right\}$ $A_0 = \begin{bmatrix} 0 & 0 \\ 0 & 0 \end{bmatrix}, A_1 = \begin{bmatrix} 1 & 0 \\ 0 & 0 \end{bmatrix}, A_2 = \begin{bmatrix} 0 & 1 \\ 0 & 0 \end{bmatrix}, A_3 = \begin{bmatrix} 0 & 0 \\ 0 & 1 \end{bmatrix}$ $A_{4=} \begin{bmatrix} 0 & 1 \\ 0 & 1 \end{bmatrix}, A_5 = \begin{bmatrix} 1 & 1 \\ 0 & 1 \end{bmatrix}, A_6 = \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix}, A_7 = \begin{bmatrix} 1 & 1 \\ 0 & 0 \end{bmatrix}$

Thus R is not regular but R is π -regular.

3-) Let : $R=Z_4 \bigoplus Z_{4}$, then it is easy to check that ,

 $(\overline{3},\overline{2})$ and $(\overline{1},1) - (\overline{3},\overline{2})$ are not regular. So R is not a VNL-ring, but R is π -regular. Thus R is a GVNL-ring.

Proposition: 2.2:

A ring R is GVNL-ring iff $a^n R$ is generated by an idempotent element for every $a \in R$ and some positive integer n.

Proof:

Suppose that R is a GVNL-ring. Then either a or (1-a) is π -regular. Let $a \in \mathbb{R}$. Then there exists an element b $\in \mathbb{R}$ and appositive integer n such that $a^n = a^n b a^n$, let $e = a^n b$. Clearly e is an idempotent element in R. We shall show that $a^n R = eR$. Let $c \in a^n R$, then, $c = a^n r$ for some $r \in R$. But, $a^n = a^n b a^n$, 50

 $C=a^n b a^n r = e \cdot a^n r \in R, a^n R \in R$. Therefore $a^n R \subseteq eR \dots (1)$

On the other hand if d \in R, then d = e s for some s \in R, but, $e = a^n b$, so, $d = a^n b \in a^n R$

Therefore $eR \subseteq a^n R \dots (2)$. Thus $a^n = eR$

Now. if (1-a) is π -regular. then there exists z∈R $n \in Z^+$ such and that $(1-a)^{n} = (1-a)^{n} z (1-a)^{n}$

let $e=(1-a)^n z$, we shall show that $(1-a)^n R=eR$.

Let $w \in (1-a)^n R$, then $w = (1-a)^n s$, for some $s \in R$. But $(1-a)^n = (1-a)^n z(1-a)^n$. so $w=(1-a)^n$ $z(1-a)^n s = (1-a)^n z(1-a)^n s = e(1-a)^n s \in eR$, therefore $(1-a)^n R \subseteq eR$.

Now if d \in eR, then d = es for some s \in R. But $e=(1-a)^n z$, so, $d=(1-a)^n z \in a^n R$ Thus $eR \subseteq (1-a)^n R$. Therefor $(1-a)^n R = eR$.

Conversely, let $a \in \mathbb{R}$, e is an idempotent in R such that $a^n \mathbb{R} = e\mathbb{R}$ for some positive integer n. Then $e = a^n b$ for some $b \in \mathbb{R}$ and $a^n = e^n c$ for some $c \in \mathbb{R}$, so $e^n = a^n b^n a^n = c$, so $e^n = a^n b^n a^n = e^n c = e^n c = a^n$. Hence $a^n = ea^n = a^n b a^n$. Therefore *a* is π -regular.

Now, for $(1-a)\in \mathbb{R}$, let e be an idempotent element in R such that

 $(1-a)^n$ R=eR, for some positive integer n. Then e= $(1-a)^n$ b for some b \in R

and $(1-a)^n = c$, for some $c \in \mathbb{R}$. So, $e(1-a)^n = (1-a)^n b (1-a)^n$, and $e(1-a)^n = e c$, hence $e(1-a)^n$ $= e c = (1-a)^n$, then $(1-a)^n = e(1-a)^n = (1-a)^n b (1-a)^n$

Thus(1- a) is π -regular and therefore R is GVNL- ring.

#

Proposition 2.3:

Let R be a commutative ring and let P be a primary ideal of R. Then P is a maximal ideal if R/P is a GVNL-ring.

Proof:

Let $a \in R$, Then $a + P \in R/P$. Since R/P is GVNL-ring, then either (a+p) or ((1-a)+p) is π regular element in R/P. Let (a+P) be π -regular in R/P. Then let (b+P) \in R/P and $n\in Z^+$ such that $a^{n}+P = (a+P)^{n} = (a+P)^{n} (b+P) (a+P)^{n}$

 $=(a^{n}+P)(b+P)(a^{n}+P)=a^{n}ba^{n}+P=a^{n}ba^{n}+P$ That is $(a^n - a^n b a^n) \in P$, then $a^n (1 - b a^n) \in P$. Assume that $a^n \notin p$.

Since P is primary, then $(1-b a^n)^m \in P$, $m \in Z^+$ such that,

 $(1 - b a^{n})^{m} = 1 - [\sum_{k=1}^{m} C_{k}^{m} (-1)^{k-1} b^{k} a^{n(k-1)}] a^{n} \in p \text{ where } C_{k}^{m} = \frac{m!}{k!(m-k)!}$

Now, let $z = \sum_{k=1}^{m} C_k^m (-1)^{k-1} b^k a^{n(k-1)}$.

Then $(1-z a^n) \in P$, Thus $1+p=(z+P)(a^n+P)=(z a^{n-1}+P)(a+P)$.

Therefore (a+p) has inverse in R/P. Now, if ((1-a)+P) is π -regular element in R/P, then there exists $n \in Z^+$ and $(\ell + P) \in R/P$ such that

$$((1-a)^{n}+P)=((1-a)+P)^{n}=((1-a)+P)^{n}(\ell+P)((1-a)+P)^{n}=((1-a)^{n}+P)(\ell+P)((1-a)^{n}+P))$$

=(1-a)^{n} \ell (1-a)^{n}+P

Then $(1-a)^n - (1-a)^n \ell (1-a)^n \in P$, that is $(1-a)^n (1-\ell (1-a)^n) \in P$ Let $(1-a)^n \notin P$, since Pis primary ideal, Then $(1-\ell(1-a)^n)^m \in P$, $m \in Z^+$ such that $\begin{bmatrix} 1-\ell(1-a)^{n} \end{bmatrix}^{m} = 1 - \begin{bmatrix} \sum_{k=1}^{m} C_{k}^{m}(-1)^{k-1} \ell^{k} & (1-a)^{n(k-1)} \end{bmatrix} (1-a)^{n} \in p$ =1- $\begin{bmatrix} \sum_{k=1}^{m} C_{k=1}^{m} \end{pmatrix} (-1)^{(k-1)} \left(\sum_{q=1}^{n(k-1)} c_{q}^{n(k-1)} (-1)^{(q-1)} a^{n(k-1)(q-1)} \right) a \end{bmatrix} (1-a)^{n} \in p$ =1- $\begin{bmatrix} \sum_{k=1}^{m} \sum_{q=1}^{n(k-1)} C_{k}^{m} C_{q}^{n(k-1)} (-1)^{k+q-2} a^{n(k-1)(q-1)+1} \end{bmatrix} (1-a)^{n} \in p$ Where $C_{k}^{m} = \frac{m!}{k!(m-k)!}$ Now, let w= $\sum_{k=1}^{m} \sum_{q=1}^{n(k-1)} C_k^m C_q^{n(k-1)} (-1)^{k+q-2} a^{n(k-1)(q-1)+1}$ Then $1-w(1-a)^n \in P$ which implies that $1+p=(w+p)(1-a)^n+p = (w(1-a)^{n-1}+P)(a+P)$. Hence ((1-a)+P) has inverse in R/P, thus R/P is a division ring. Therefore P is a maximal ideal in R . #

<u>Theorem 2.4</u>: Let *I* be a regular ideal of a ring R. Then R is GVNL-ring if and only if R/*I* is GVNL-ring.

Proof:

Let R be GVNL-ring. Then either a or (1-a) is π - regular element in R, for all a \in R. Now, if a is π -regular, then there exists b $\in \mathbb{R}$ and $n \in \mathbb{Z}^+$ such that $a^n = a^n b a^n$ Hence $(a+I)^n = a^n + I = a^n b a^n + I$ $=(a^{n}+I)(b+I)(a^{n}+I)$ $= (a+I)^n (b+I)(a+I)^n$ Thus (a+I) is π -regular element in R/I Now, if (1-a) is π -regular in R, then there exists $d \in R$ and $n \in Z^+$ such that $(1-a)^{n} = (1-a)^{n} d (1-a)^{n}$ Hence $((1-a)+I)^{n} = ((1-a)+I)^{n} (d+I) ((1-a)+I)^{n}$ $=((1-a)^{n}+I)(d+I)((1-a)^{n}+I)$ $=(1-a)^{n} d (1-a)^{n} + I$ $= (1-a)^{n} + I$ Therefore ((1-a+I) is π -regular in R/I Conversely, let R/I be GVNL and $a \in \mathbb{R}$. Then either (a+I) or ((1-a)+I) is π -regular element in R/I. Then there exists $(b+I) \in R/I$ and a positive integer n such that $(a^{n}+I) = (a+I)^{n} (b+I)(a+I)^{n} = (a^{n}+I)(b+I)(a^{n}+I) = a^{n}b a^{n}+I$ Hence $a^{n}+I = a^{n} b a^{n}+I$, so $a^{n} - a^{n} b a^{n} \in I$ Since *I* is regular, there exists $c \in I$ such that $a^{n} - a^{n} b a^{n} = (a^{n} - a^{n} b a^{n}) c(a^{n} - a^{n} b a^{n})$ $a^n = a^n b a^{n+}a^n c a^n - a^n b a^n c a^n - a^n c a^n b a^{n+}a^n b a^n c a^n ba^n$ $= a^n (b+c - b a^n c - c a^n b + b a^n c a^n b)a^n$ $=a^n \le a^n$, where $\le (b+c-b a^n c-c a^n b+b a^n c a^n b)$ Thus a is π -regular in R. Now, if (1-a)+I is π -regular, then there exists q+I and $n\in \mathbb{Z}^+$ such that, $(1-a)^{n}+I = ((1-a)^{n}+I)(q+I)((1-a)^{n}+I)$ So $(1-a)^n - (1-a)^n q(1-a)^n \in I$, since *I* is regular then $(1-a)^{n} - ((1-a)^{n} q (1-a)^{n}) = [(1-a)^{n} - (1-a)^{n} q (1-a)^{n}] \le [(1-a)^{n} - (1-a)^{n} q (1-a)^{n}]$ $=[(1-a)^n w (1-a)^n - (1-a)^n w (1-a)^n q (1-a)^n]$ $-[(1-a)^n q (1-a)^n w (1-a)^n] + [(1-a)^n q (1-a)^n w (1-a)^n q (1-a)^n]$ $= (1-a)^{n} [w-w (1-a)^{n} q-q (1-a)^{n} w +q(1-a)^{n} w (1-a)^{n} q] (1-a)^{n}$ $(1-a)^{n} = (1-a)^{n} q(1-a)^{n} + (1-a)^{n} [w-w (1-a)^{n} q-q (1-a)^{n} w+q(1-a)^{n} w (1-a)^{n} q] (1-a)^{n}$ $= (1-a)^{n} [q-w-w(1-a)^{n} q-q(1-a)^{n} w+q(1-a)^{n} w(1-a)^{n} q] (1-a)^{n}$ $= (1-a)^{n} Z (1-a)^{n}$ Thus (1-a) is π - regular in R. Therefore R is a GVNL –ring. #

Proposition2.5:

Let R be a GVNL-ring. Then $\mathcal{J}(R)$ is nil ideal.

Proof:

Let $0 \neq a \in \mathcal{J}(\mathbb{R})$ Since R is GVNL-ring, then either a or (1-a) is a π - regular element of R, if a is π -regular, then there exists an element $b \in \mathbb{R}$ and $n \in \mathbb{Z}^+$ such that $a^n = a^n b a^n$, then $a^n - a^n b a^n = 0$. Hence (1- $a^n b$) $a^n=0$ Since $a \in \mathcal{J}(\mathbb{R})$, therefore $a^n \in \mathcal{J}(\mathbb{R})$, and $a^n b \in \mathcal{J}(\mathbb{R})$. Thus (1- $a^n b$) is invertible, so there exists $u \in \mathbb{R}$ such that $u (1 - a^n b) = 1$, it follows that $u (a^n - a^n b a^n) = a^n$, thus a is nilpotent element. Now, if (1-a) is π -regular, since $a \in \mathcal{J}(\mathbb{R})$, then (1-a) is invertible, and then (1-a)^n invert able, thus (1-a) is nilpotent element and Therefore $\mathcal{J}(\mathbb{R})$ is a nilideal.

Corollary: 2.6:

Let R be a reduced GVNL – ring Then $\mathcal{J}(R)=0$

<u>Proof</u>

Suppose that $\mathcal{J}(R) \neq 0$, then there exists a $\in \mathcal{J}(R)$ and by (prop .2.5) a is a nilpotent element in R. But R is reduced, then a=0.therefore $\mathcal{J}(R) = 0.\#$

Corollary 2.7:

Let R be a reduced GVNL- ring, Then R is VNL- ring.

Proof:

R is exchange ring [2, Theorem 2.2].

Now, R is reduced exchange ring for any $a \in R$.

. If a is π - regular in R, then $a^{n}=a^{n}x a^{n}$ for some positive integer n and $x \in \mathbb{R}$. Clearly $e = a^{n}x$ where e idempotent element is an in R SO $((1-e) a)^n = (1-e) a^n = (1-e) e^{n-1} a^n = 0$, and hence (1-e)a = 0 Therefore $a = e^n a = a(a^{n-1}x) a$, is regular.

Now, if (1-a) is π -regular, then (1-a) $^{n} = (1 - a)^{n} z(1 - a)^{n}$ for some positive integer n and $z \in \mathbb{R}$. Clearly $e = (1 - a)^n z$, so $(1 - e) (1 - a)^n = (1 - e) e (1 - a)^n = 0$.

#

Hence (1-e)(1-a) = 0.

Thus $(1-a) = e(1-a) = (1-a)^n z(1-a) = (1-a)(1-a)^{n-1} z(1-a) = (1-a)w(1-a)$

That is (1 - a) is regular. Therefore R is a VNL-ring.

Proposition 2.8:

Let R be a GVNL-ring with $r(a) \subseteq r(1-a)^n$ for $a \in R$. Then Y(R) is a nilideal.

Proof:

Let $a \notin \{0, 1\}$ be an element in Y(R). Then Y(R) is an essential right ideal of R. Now, since $r(a)\subseteq r(a^n)$, then $r(a^n)$ is also an essential right ideal of R.

Since R is a GVNL-ring, then either a or (1-a) is π -regular element in R. If a is π -regular, then there exists $b \in \mathbb{R}$ and $n \in \mathbb{Z}^{+}$, such that $a^n = a^n b a^n$.

Now, consider r $(a^n) \cap b a^n R$, and let $x \in r(a^n) \cap ba^n R$, Then $a^n x=0$ and $x=ba^n r$ for some $r \in R$. So, a^n b a^n r=0, which implies a^n r=0, yielding x=0.

Therefore r $(a^n) \cap ba^n \mathbb{R}=0$, since r (a^n) is a non-zero essential right ideal of R, then $ba^n=0$, and hence $a^n = 0$.

 $(1-a)^n = (1-a)^n$ Now, if (1-a) is π -regular, then there exists $c \in \mathbb{R}$ and $n \in \mathbb{Z}^+$ such that $c(1-a)^{n}$.

Now, since $r(a) \subseteq r(a^n) \subseteq r(1-a)^n$, then $r((1-a)^n)$ is also an essential ideal of R. Consider $r((1-a)^n) \cap$ $c(1-a)^n R$. Let $y \in r((1-a)^n) \cap c((1-a)^n) R$, then $(1-a)^n y=0$, and $y=c(1-a)^n r$ for some $r \in R$. So, $(1-a)^n c$ $(1-a)^n c$ a)ⁿ r=0, Which implies $(1-a)^n$ r=0, yielding y=0. Therefore $r((1-a)^n) \cap c(1-a)^n$ R=0.

Since $r((1-a)^n)$ is a non-zero essential right ideal of R, then $c(1-a)^n=0$.

And hence $(1-a)^n=0$, and then 1=a, a contradiction. #

Thus $a^n=0$ and therefore Y(R) is nilideal.

Theorem 2.9:

Let R be a ring with $(r(a^{n+1})) \subseteq r(a^n)$ and $r(a(1-a)^n) \subseteq r((1-a)^n)$ for $a \in \mathbb{R}$, if $\mathbb{R}/r(a)$ is GVNL-ring. Then R is GVNL-ring

Proof:

Assume that R/r(a) be a GVNL-ring, then either $a+r(a) \in R/r(a)$ or

(1-a)+r(a) is π -regular element. Now, if a+r(a) is π -regular element for $a\in \mathbb{R}$ then there exists $b+r(a) \in R/r(a)$ and $n \in Z^+$, such that

 $a^n + r(a) = (a + r(a))^n$

 $= (a+r(a))^{n} (b+r(a))(a+r(a))^{n}$

 $= (a^{n} + r(a))(b + r(a))(a^{n} + r(a))$

 $=a^{n}ba^{n}+r(a)$

Then $a^n - a^n b a^n \in r(a)$, that is

 $a (a^n - a^n b a^n) = 0$, hence $a^{n+1}(1 - b a^n) = 0$. Then $(1 - b a^n) \in r(a^{n+1}) \subseteq r(a^n)$, which implies that $a^n(1 - b a^n) = 0$. a^n) =0, then we get $a^n = a^n b a^n$

Thus *a* is π -regular element in R.

Now, if $(1-a)+r(a) \in \mathbb{R}/r(a)$ is π -regular for $a \in \mathbb{R}$, then, there exists $c+r(a) \in \mathbb{R}/r(a)$ and $n \in \mathbb{Z}^+$ such that $(1-a)^{n} + r(a) = ((1-a) + r(a))^{n}$

=((1-a) + r(a))ⁿ (c+ r(a)) ((1-a)+ r(a))ⁿ= ((1-a)ⁿ+r(a))(c+ r(a))((1-a)ⁿ+ r(a)) =(1-a)ⁿ c (1-a)ⁿ+ r(a), then (1-a)ⁿ - (1-a)ⁿ c (1-a)ⁿ ∈ r(a), that is $a((1-a)^{n} - (1-a)^{n} c (1-a)^{n})=0$, so $a(1-a)^{n} (1 - c(1-a)^{n})=0$ then $(1-c (1-a)^{n}) ∈ r(a(1-a)^{n}) ⊆ r((1-a)^{n}, hence (1-a)^{n} (1-c(1-a)^{n})=0$ Thus $(1-a)^{n} - (1-a)^{n} c (1-a)^{n}=0$. Hence (1-a) is π- regular element in R Therefore R is GVNL –ring. #

Theorem 2.10:

If R is a reduced ring and every maximal ideal of R is a right annihilator. Then R is GVNL-ring.

Proof:

Let $a \in R$, we shall prove that $a^n R+r(a)=R$, if not there exists a right maximal ideal M containing $a^n R+r(a^n)$. If M=r(b) for some $0 \neq b \in R$, we have

 $b \in \ell(a^n R + r(a^n)) \subseteq \ell(a^n) = r(a^n)$, which implies that $b \in M = r(b)$, then $b^2 = 0$, and b=0 a contradiction. Therefore $a^{n}R + r(a^{n}) = R$ In particular $a^n c+d=1$, $c\in R$, $d\in r(a^n)$, then $a^n c a^n=a^n$ which proves a is π -regular element. Now, if (1-a) $\in \mathbb{R}$, we shall prove that. $((1-a)^n + r((1-a)^n) = R$, if not there exists a maximal right ideal M containing $(1-a)^n R+r(1-a)^n$, if M=r(c) for some $0\neq c\in R$, we have $c \in \ell(1-a)^n R+r(1-a)^n \subseteq \ell(1-a)^n = r(1-a)^n$. Which implies $c \in M=r(r)$, then $c^2=0$. And hence c=0 a ctraduction. Therefore $(1-a)^n R+r(1-a)^n=R$ Inparticular $(1-a)^{n}$ x + y=1 Where x ∈R and $\in r((1-a)^n)$ Then, y $(1-a)^n x (1-a)^n + 0 = (1-a)^n$. Thus (1-a) is π -regular element in R. Therefore R is GVNL-ring. #

Now, we have the following result to obtain the relation between GVNL-ring and exchange ring .

Proposition 2.11:

If R is GVNL-ring, then eRe is also GVNL-ring for every idempotent element e in R.

Proof:

For $a \in eRe$, a or (1-a) is π -regular in R. If a is π -regular, then there exists b in R and $n \in Z^+$ such that $a^n = a^n b a^n$, so, $a^n = (a^n e) b (e a^n) = a^n$ (ebe) a^n . Thus a is π -regular in eRe.

If (1-a) is π -regular, then there exists $c \in \mathbb{R}$ and $n \in \mathbb{Z}^+$ such that $a)^n = (1-a)^n c(1-a)^n$

Now $((e-a)^n = (e-ea)^n = (e(1-a))^n = e(1-a)^n e$.

Hence e-a is π -regular in eRe.

Therefore, eRe is a GVNL-ring. #

Now, we give the following proposition which is due to YING Zhi- ling in [8]

Proposition 2.12:

If R a GVNL-ring, then for every idempotent element e in R, either eRe or (1-e) R(1-e) is a π -regular ring.

Proof:

Let R be a GVNL-ring and $e \in \mathbb{R}$ be an idempotent element in R. Then $\mathbb{R} \cong \begin{pmatrix} eRe & eR(1-e) \\ (1-e)Re & (1-e)R(1-e) \end{pmatrix}$ If $r \in \mathbb{R}^{2}$ and $u \in (1-e)\mathbb{R}(1-e)$

If $x \in \text{eRe and } y \in (1-e)R(1-e)$ are two non- π -regular elements. Then both

$$a = \begin{pmatrix} x & 0 \\ 0 & 1 - y \end{pmatrix} \text{ and } 1 - a = \begin{pmatrix} 1 - x & 0 \\ 0 & y \end{pmatrix}$$

are also non- π -regular, a contradiction.

From proposition 2.12, clearly every GVNL-ring is an exchange ring.

#

(1-

The following corollary is given in [8]

Corollary 2.13:

For an abelian ring R, R is GVNL-ring if R is an exchange ring

Proof:

For $a \in \mathbb{R}$, let $a_{1=a}$ and $a_{2=1}-a$. Then

 a_1 R+ a_2 R=R, then by [5, proposition 1-11], there exists an orthogonal idempotent e_1 and e_2 such that $e_1 \in e_2$ R and $e_{1+}e_{2=}1$. Now, $e_1 = a_1 b_1$ and $e_2 = a_2 b_2$ for $b_1, b_2 \in \mathbb{R}$, so $e_1 a_1 = (e_1 a_1) (e_1 b_1)(e_1 a_1)$ and $e_2 a_2 = (e_2 a_2) (e_2 b_2)(e_2 a_2)$ is regular. Since R is abelian, $e_1 a_1$ and $e_2 a_2$ is also strongly regular.

Thus we can suppose that

 $e_1a_1 b_1 = e_1 b_1 a_1$ and $e_2 a_2 b_2 = e_2 b_2 a_2$, implying that, $e_1 a_1 = (e_1 a_1)^2 (e_1 b_1)$ and $e_2a_2 = (e_2a_2)^2 (e_2 b_2)$. By (proposition 2.12) either $e_1 R = e_1 R e_1$ and $e_2 R = e_2 R e_2$ or $(1-e_1)R(1-e_1)and(1-e_2)R(1-e_2)are\pi$ regularife₁Re₁and e₂ Re₂ are π -regular, then R being a finite direct product of e₁ Re₁ and e₂ Re₂ is π regular. If $(1-e_i)R(1-e_i)$ is π -regular for j=1, 2, then there exists m>0 and $C_i \in \mathbb{R}$ for j=1, 2 such that ($(1-e_i) a_j^m C_j((1-e_i) a_j)^m = ((1-e_j)a_j)^m = (1-e_j) a_j^m),$

 $e_i a_i = (e_i a_i)^2 (e_i b_i)$, we have $[e_ja_{j+}(1-e_j)a_j]^m [(e_jb_j)^m + (1-e_j)c_j] [e_ja_j + (1-e_j)a_j]^m$ $= [e_i a_i + (1 - e_i) a_i]^m = a_i^m$

That is a_1 , a_2 is also π -regular. Therefore R is GVNL-ring. Now, to give the relation between GVNL-ring and strongly commuting regular rings.

Theorem 2.14: [6]

Suppose that R is a strongly commuting regular ring. Then R is π -regular.

Proof:

By strongly commuting regularity of R, for each $x \in \mathbb{R}$, there exists an element c in R such that x $^{2}=x^{4}$ c x^{4} . With suppose $\overline{c} = x^{2}$ c x^{2} . Then we have

 $x^2 = x^2 \bar{c} x^2$. Which implies that R is π –regular. # We observe the following corollary.

Corollary 2.15:

I f R is a strongly commuting regular. Then R is GVNL-ring.

3- The GVNL – Ring without zero Divisor element.

In this section, we give some results about GVNL-ring without zero -divisors and some relation with other rings like division ring, local ring, π -regular ring, simple ring, VNL-ring.

Proposition 3.1:

Let R be a GVNL-ring without zero divisors. Then every element $a \notin \{0, 1\}$ in R is invertable.

Proof:

Let Rbe a GVNL-ring and $0 \neq a \in R$. Then either a or (1 - a) is π – regular element in R. If a is π -regular element in R, then there exists b \in R and n \in Z⁺ Such that

 $a^n = a^n b a^n$, and then we have $a^n - a^n b a^n = 0$

That is, $a^n - a^n b a^n = a^n (1 - b a^n) = a (a^{n-1} (1 - b a^n)) = 0$. Since R is without zero divisors then, a^{n-1} (1-b a^n)=0, thus $a(a^{n-2}(1-b a^n))=0$ and hence ... $a(1-b a^n)=0$, then 1-b $a^n=0$ Thus 1=b a^n , which implies that $1=(b a^{n-1}) a$, that a has left inverse.

Now, since $1=(b a^{n-1})a$, then, $a=a (b a^{n-1})a$ and thus $(1 - ab a^{n-1})a=0$.

Hence $(1-ab a^{n-1}) \in \ell(a) = 0$, which implies that 1=a (b a^{n-1}),

Thus *a* has right inverse and therefore *a* is invertable element in R.

Now, if (1-a) is π -regular element in R, then there exists $c \in R$ and $n \in Z^+$ such that,

 $(1-a)^n - (1-a)^n c (1-a)^n = 0$, that is $(1-a)^n [1-c(1-a)^n] = (1-a)^n (1-a)^{n-1} [1-c(1-a)^n] = 0$.

Since R is without zero divisor and $a \notin \{0, 1\}$. Thus $(1-a)^{(1-a)^{n-2}}(1-c(1-a)^n)=0$, and hence ... $(1-a)(1-c(1-a)^n)=0$. Then $(1-c(1-a)^n)=0$, which implies that, $1=c(1-a)^n$ That is $1=(c(1-a)^{n-1})(1-a)$. Hence (1-a) has left inverse . Now, since $1=(c(1-a)^{n-1})(1-a)$, then, $(1-a)=(1-a)(c(1-a)^{n-1})(1-a)$, and then $(1-(1-a)c(1-a)^{n-1})(1-a)=0$ thus, $(1-(1-a)c(1-a)^{n-1}) \in \ell$ (1-a)=0 which implies that $1=(1-a)(c(1-a)^{n-1})$. And hence(1-a) has right inverse. Therefore (1-a) is invertible element in R. #

Corollary 3.2:

Let R be a GVNL-ring without zero-divisors. Then R is a division ring .

Corollary 3.3:

Let R be a GVNL-ring without zero divisors. Then R is;

1- Local ring. 2- VN-regular ring and reduced ring.

- 2- VN-regular ring and reduced ring .
- 3- π -regular ring .

Finally we give the following result .

Proposition 3.4:

If I is a proper ideal of GVNL-ring R. Then every element of I is zero divisors in R. Especially every GVNL-ring has non-zero divisors is simple.

Proof:

Let since GVNL-ring, then either $0 \neq a \in I$, R is or (1-a)is a π -regular element in R. If a is π -regular element, then there exists an element b \in R and a positive integer n such that $a^n = a^n b a^n$, if a is not zero divisors then a^{n} (1-b a^{n})=0 gives (1-b $a^{n} = 0$, and hence $1 \in I$, a contradiction.

Hence, *a* is zero divisors. Now, if (1-a) is π -regular element, then there exists $c \in \mathbb{R}$ and a positive integer n such that $(1-a)^n = (1-a)^n c (1-a)^n$. If (1-a) is not zero divisor, then $(1-a)^n (1-c (1-a)^n) = 0$ gives, $1-c(1-a)^n = 0$ thus

 $1=c (1-a)^n \in I$ a contradiction.

If R has nonzero divisors, there is not a proper ideal *I* of R. Hence R is simple. #

REFERECES

1-Burton, D.m.(1970), " A first Course in Rings and Ideals, " Addison Wesley Pulishing Company.

- 2-CHEN W.X., TONG W.T. (2006), " On non-commutative VNL-rings and GVNL-rings "(J).Glasgow Math J, 48:11-17.
- 3-CONTESSA M. (1984), "On certain classes of pm-rings"(J).Comm. Algebra, , 12:1447-1469.

4-Mc Coy, N.H.(1939)," Ggeneralized regular rings", Bull.Amer.Math.Soc.Vol.45, pp.175-178.

5- NICHOLSON.W.K. (1977), "Llifting idempotents and exchange rings". Transacati -ons of the American Math. Society, vol.229, pp.269-278.

Amer. Math.Soc., 229:269-278.

6-Sh.A.Safarisabet and Marzieh. Farmani, (2013), "Strongly commuting regular rings "J.Basic ...Appl.Sci. Res.3(1) vol 3(1), pp.707-713.

7-Von Neumman, J.(1936), "On regular rings". Proc. Nat. Scad. Sciences U.S.A, Vol, 22, pp.707-713.

8-YING Zhi-ling, (2011), " Some Charactrizations of GVNL_Rings", Journal of Nanjing University of Posts and Telecommunications (Natural Science), Vol.31 No.5.

پوخته:

دبينژنه خەلمەكا (R) كو خەلمەكەكا ناڨخوييا ريّكخستى و گشتكيرە، بو ھەر ئيّك ژ (R ∈ R) يان (a) يان (a − 1) ھەيە كو توڅمەكى ريّكخستيە ژ شيّوازى –π، دڨى ڨەكولينى دا مە ھىدەك تايبەندى و ساخلەتيّىن خەلمەكا ناڨخويى ييّن ريّكخستى و ناڨخويى گشتگير داينە، ھەروەسا مە پەيوەندى دناڨبەرا خەلمەكيّىن ناڨخو ييّن گشتگير و خەلمەكيّن ناڨخويى خانديە، خەلمەكيّن ريّكخستى ل پەى تيّگەھشتنا فۆن نيومان، خەلمەكيّن فۆن نيومان ييّن ريّكخستينن ناڨخويى (خەلمەك ژ شيّوازى -VNL) و خەلمەكيّن ھەڨ دژ.

المستخلص:

يقال للحلقة R بأنها حلقة محلية منتظمة معممة، إذا كان لكل a∈R إما a أو (a-1) هو عنصر منتظم من النمط – π. في هذا البحث أعطينا بعض مميزات و خواص الحلقة المحلية المنتظمة المعممة كذلك درسنا العلاقة بين الحلقات المحلية المنتظمة المعممة و الحلقات المحلية، الحلقات المنتظمة حسب مفهوم فون نيومان، حلقات فون نيومان المنتظمة المحلية(حلقات من النمط –VNL) والحلقات المقايضة.